n x? Negatieve exponenten van 10

Naam: Datum: Score:
1070 = 673,8 x 1073 =
1077 = 100D =
837 x 100D = 466,8 + 107 =
305,8 x 1004 = 4 x 100D =
409, 6+ 107 = —3x 10 =
3% 10° = 303,6 x 1009 =
1072 = 656, 1 x 1074 =
327,6+ 100 = 246, 5+ 107 =
352,7+ 107 = 1003 =
5x10° = 100D =
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Negatieve exponenten van 10

Naam:

1077 =0.1

107 = 0.001

837 x 107" = 83.7

305, 8 x 10 = 0.03058
409, 6 + 107 = 409600
3 x 10% = 300

1072 = 0.01

327,6+ 1077 = 32760
352,7+ 1072 = 352700

5x 107 = 500

Datum:

673,8 x 107 = 0.6738
1077 = 0.1

466, 8 ~ 10* = 4.668

4% 107D =04

—3x 10 =-30

303,6 x 107% = 0.03036
656, 1 x 107 = 0.06561
246,5 + 107 = 246500
107 = 0.001

1000 = 0.1
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